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Q1.Minerals need to be conserved because *

i.They are renewable
ii.,They are depleting rapidly.
iii.They are needed for country's industrial development.

ivThey formation is very fast.
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A mineral is a naturally occurring inorganic element or compound having an orderly internal
structure and characteristic chemical composition, crystal form, and physical properties.
Common minerals include quartz, feldspar, mica, amphibole, olivine, and calcite.

Q2. Match the columns/ EI'T\I:FIWQ'TFI‘\T»T fHelTy

a.Magnese/ﬂ??-ﬁGf i)) Electrical Industries/ ﬁﬂ:ﬂﬁml
b.Copper/ dTaT ii)Karnataka/ @siTceh

c.Mica/ A iii)West Bengal/ 9f2aeT §ammel

d.Limestone / Bl X iv)Madhya Pradesh/ #ET g2

e.Coal/ STl v)Cement/ HIHT

A. a-iii, b- ii, ¢c-v, d-iv, e-ii
B. a-i, b-iv, c-ii, d-iii, e-v
C. a-ii, b-iii, c-1, d-v, e-1v
D.a-i, b-iv, c-ii, d-v, e-iii

D. ANS- a-ii, b-iii, c-i, d-v, e-iv



Q3. Kakrapara nuclear power station is located in the state of
A. Maharastra
B. Andhra Pradesh
C. Karnataka
D. Gujarat
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Answer-D. Gujarat/ I[ITd

Kakrapara Atomic Power Station, also known as KAPS, is a nuclear power plant located in
Kakrapar, Gujarat, India. The first of its kind in Asia, KAPS is one of the largest nuclear
power plants in the world in terms of installed capacity.

Q4.
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(a) French MNC/ ShIEIET THTT

(b) American MNC/ 3THRERT THTTH!

(c) Chinese MNC/ =isiT THTTEY

(d) German MNC/ STHT THUAHT

Ans. (b) American MNC/ TR THTAHT

Q5. Assertion: Removing barriers or restrictions set by the government on trade is known as
liberalisation.

Reason: This helps in the globalisation process.

A.Both assertion and reason are true and A is correct explanation of R



B.Both assertion and reason are true but A is not the correct explanation of R

C.A is true R is False

D.Both A and R are False
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Q6. Which one of the following is not a characteristic of 'Special Economic Zone'?

(a) They do not have to pay taxes for a long period.
(b) Government has allowed flexibility in labour laws.
(c) They have world class facilities.

(d) They do not have to pay taxes for an initial period of five years.
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Answer-(a) They do not have to pay taxes for a long period/3=¢ T 3/a& deh
STel &1 93T g

Q7. Which of the following statements is true?

a) As per Indian law, apart from RBI, no other individual or organisation is allowed to
issue currency.

b) The law legalises the use of rupees as a medium of payment that cannot be refused
in settling transactions in India

c) No individual in India can legally refuse a payment made in rupees.



d) All of the above.
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Answer: (d) All of the above/3TRied T
Q8. Assertion: Money is accepted as a medium of exchange .
Reason: It is authorised by the government of the country.

A.Both assertion and reason are true and A is correct explanation of R
B.Both assertion and reason are true but A is not the correct explanation of R

C.A is true R is False

D.Both A and R are False
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Q9. Which is one of the major reasons that prevent the poor from getting bank loans? Choose

the best suitable option:

(a) a) Absence of collateral.

(b) Lack of availability of banks in rural areas

(c) Lack of approach towards formal organisations.

(d) All of the above
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Ans. (a) Absence of collateral is the major reason which prevent poor from getting bank

loans/ TUTfRae I Hﬂqﬁﬂﬁ

Q10.Choose the correct option for the following States' share (in percentage) in the production
of 'manganese’ in India from the highest to the lowest order.

(a) Madhya Pradesh, Maharashtra, Karnatak Odisha

(b) Madhya Pradesh, Maharashtra, Odisha, Karnataka
(c) Maharashtra, Madhya Pradesh, Karnataka, Odisha
(d) Maharashtra, Odisha, Madhya Pradesh, Karnataka
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(T) FET Y2, HGRISS, Thedlceh NS

(&) FALT IS, AERISE, 3NTSLT, Fellch

(&) FERTSE, HLT &2, Fadlcan, INTSAT

(31) ABRISE, N3, 7L US2r, Fallesh

Ans. (b) Madhya Pradesh, Maharashtra, Odisha, Karnataka/ 33. (&) 7T 9c2r, #gRIST,
3nfsem, Fdaes




